Pon "7 'on 2,20 2" .72

We give him his portion as a — X9%» 778 759 319277° WIWD POmM 192 PoR
9122 and his portion as an ordinary son on one boundary

OVERVIEW

YWY 277 772 K117 27 stated that it is obvious to him that the double portion that the
7152 receives in the inheritance (his share as a regular son and the additional share
as a M12) are to be given to him together, in adjoining lots. The &7 did not state
the reason for this." mpoIn will explain it.

S0V PINY 1193 PN YIPN DIV 9 P07 (137 97 1mp%) PIMI YWIA 19 XPITH
As we derive this ruling in P%m1 @ P79 since it is written 27w 5 (a double

amount) we compare the portion of 779123 to the regular portion; just as each pon
VWD is given XXM TR, so too the two portions of the 7122 (which are included in the one word of
2w [and are to be considered as one P9r]) are to be given X% TNX.

SUMMARY
The 105 of 0°1w * teaches that both shares of the 7122 must be adjoining.

THINKING IT OVER

1. Perhaps the wp>n teaches that just as the VW5 P71 must be X1¥» 71X so too the
77192 P91 must be X1¥1 71XR; but how do we derive that both 0°p%11 (the vVWw»o and the
7122) must be X1¥» TR together?!*

2. Does the wpn teach us that we must give the 702 both X¥n TnX 2°Pon
(regardless), or does it teach us that the VW Pon and the 7M52 P51 are one P71 (and
what would be the difference between these two interpretations)?’

!'>"9 in Xv*wo 71"7 writes that since both (shares) are his they are like one share (see 7> X 7"210).

> The P105 in 1,82 (RX¥N °2) 0127 states 131 17 XX’ WK 732 072w 912 DAY 77 RN 12 1937 DR 3.

*tis actually >27 there who makes this w1 to teach us that the 7152 receives his 77192 Pon1 even if it was Xun X?
(w"») 77°9; however the 13137 there (who argue with *37 and maintain that he receives a 732 p2n only if it is Xvn
77) state that 21w °d comes to teach X1¥n 1R 7°% Xan n? (without actually mentioning the wp»r).

* See n"n1and T MR 7"210.

> See Xy1 MR 7O [N
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